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Marks from 1 to 8
2
 

 

Solutions: 

1. NO, the mark has non-required words inside it; 

2. NO, the code associated to the WPM treating facility is not readable (it can be 0501 or 0502); 

3. NO, the mark does not have a well-defined rectangular space; 

4. YES; 

5. YES, even if the mark is not very clear is still readable; 

6. YES; 

7. NO, the code associated to the WPM treating facility is not readable. Nor the treatment 

used; 

8. YES.  

                                                           
2
 The material presented here is taken from ‘Manuale pratico ISPM-15 per la conformita’ del marchio IPPC/FAO FITOK’ 

prepared by Sebastiano Cerullo. 
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Marks from 9 to 16 

 

Solutions: 

9. YES, even if there is no need for the symbol DB; 

10. YES, even if there is no need for the symbol DB; 

11. YES, even if there is no need for the symbol DB; 

12. YES, even if there is no need for the symbol DB; 

13. YES; 

14. NO, it seems hand written; 

15. YES, even if there is no need for the symbol DB; 

16. YES, even if there is no need for the symbol DB. 
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Marks from 17 to 24 

 

Solutions: 

17. YES, but the rectangular space is not clearly visible; 

18. NO, the country of origin is not clear; 

19. YES; 

20. YES; 

21. YES, even if there is no need for the symbol DB; 

22. NO, different components of the mark are not visible; 

23. NO, different components of the mark are not completely visible; 

24. YES. 
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Marks from 25 to 32 

 

Solutions: 

25 YES, even if there is no need for the symbol DB; 

26: NO, different components of the mark are not visible; 

27: NO, different components of the mark are not visible; 

28: YES; 

29: NO, different components of the mark are not visible; 

30: NO, different components of the mark are not visible; 

31: NO, different components of the mark are not visible; 

32: NO, the mark does not have a well-defined rectangular space. 
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Marks from 33 to 40 

 

Solutions: 

33: YES; 

34: YES; 

35: YES; 

36: YES; 

37: NO, there is no vertical line dividing the logo from the rest of the mark; 

38: NO, different components of the mark are not completely visible; 

39: NO, it seems hand written; 

40: NO, different components of the mark are not completely visible. 


